2X2X3X2X2

1 1

@ 27)(37
1

®

23 % 32



2. O E82ASEFIEHY?

rlo

@ 8000 = 8 + 10°
@ 5EXEXTXTXT=52xT73
®2=24+2+2+2
@ 4x4x4=26
1 1 3

1
—X—X-—=—
@11 11 11 11



3.

e % 24

bsicd
rlo
Y
rlo
o)

@ 3B =27
@ 2x2x2=23=38

@ 3x3x5x5=32x52=0x25=225
1 1 1

I%x2x2x2 24 16
1 1 1

I%3x3x5x5 2x32x52 540




o0& 3 71545

El
ral
lo
Hu
8o
N
G2
rlo
N
rlo

D 3x3x3x3=23%
@ 5x5x5=53
® 3x3x5x5x7T=232x52x7

@ 3+3+3+3=3"
2x2x2 23

& — ==

Ix3x3 33



@ 5 9] AlFoltt,

@ 10 7 2.



6. T & AN 85 Aele] 57k Ak of 49 Ao Apele] £
Fofoat.

B
=¥



Q@ 24 3 37 @ 42 B 49

D 9



Q@ 12 Lol

%
J

’d
Njo
<

© 6 2] Hj

@ 10 °]

® 9,

@ ©
® @O, 0.6

sho] 2t B 5 Afolt,

S

©a
@ A, @






o
el
RS
o|J

Njo

ol

& 12 adolth,

© 2 & £&57F oyt

o}
Ed

]




oju

A

ol

o|J
~

o}
B

)




N7t A e AL
@ 150 =2x3x52 o
® 108 = 22 x 33

@ 63 =327
B 168 =23 x3x7



® 32x7

@ 26

® 7x9

3 26 %9

@ 22%3%5



FdS W, a+b+m+n o 27

S

2 29425

a’ x bt 2

o
=

196

14.

? 12 13 @ 14 B 15

D 11



15. 48°] 714 212 AQ5E Fotol oW Ad49] AFo| HA steln
gict. oful, Fatelo} & by e AA4E Foteler,

e =
c



16.



17. ok 3 350 9] P47} obd AL

@ 2 @ 2x5 @ 2x7

@) 92 x 52 G 2%x52%x7



18. Thg % 27 3} o) 4Tt e 2L

O 23x3* @ 22x7° @ 32x5x%x7
@ 33%x7 3 8



19. 20 of oFo] T2} 32 x 7 9] of0] A7t Zg w, A a 9
e ket

B
=¥



20. 13 50 71719 A% oA oF0] A7t 3 0] Ago] A4
Fajolat,

a = 7N



to] o= F a. b7k A2

S

Mz ohE F A a, bl t

21.

O
&

ol
S

Ho

< 0 2ol

A



® 715



ol
™
o|J

Njo

oln

7 3 71 o] ol
T

E

ol

{F

el

7A
ol

_g]

<&

jze)

YA
ol

ol

(B = 271 A2 40|



g3k 2% ]

® 2.3.3 ® 3.1.2 @ 3.2.2 ® 3.2.3

@D 2.1.2



o|J
ol

o
ifji

T2 x3x72x11, 60 9 ks

25.

® 35 B 48 @ 51 B 64

A 28



